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A Adyall suels Lot
child(martha,charlotte).
child(charlotte,caroline).
child(carolinelaura).
child(laura,rose).
descend(X,Y) :- child(X)Y).
descend(X,Y) :- child(X,Z),descend(Z,Y).
‘martha ey 4 charlotte (16 4ai> o § Mo 6T Jo¥1 Laguosld () 5 G agaagdl o child U 354l
o 9 dgamdl ol o i ol l 98 Y 0T (61) X (0 smin 9 Jad (30 98 Y 0T qad descend(X,Y) gT aludl qazs descend Li
(X Al

$olsdl § Y el Lis ko )

?- descend(martha laura).

e el Bz Liosds s Cgao il0 Bolaad! Jlgaed! e liglamy o U o0 slo il 010

descend (martha, laura)

child (martha, G490)
descend( G490, lauzrs

child(martha, laura)

G490 = charlotte

child(charlotte, G494
descend( G494,
laura)

@(charlotte s 1@

G494 =

descend (caroline, @

@ (caroline, laura)
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numeral(0).

numeral(succ(X)) :- numeral(X).

?- numeral(X). : ¥ pMazud| Loy

§ 3ol sl 0 ol ] o i

Loaic sde ga (succ(X) @f) X1 saadl o Joa3 5ucls goxig cnumeral sue 9o 01 () Joa5 Aaa> Goms Aayludl 28,0kl sucls
Sl 52 X 550
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succ
succ
succ
= Succ

’
succ
succ
succ

0))
succ (0)))
succ (succ

))))
succ(0))))
succ (succ

succ (0
(
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(
(

(

(

(succ
succ (succ

(

(

(

) g
= succ 0)))))) s
= succ s
= succ s

= succ

succ
succ
succ
succ

succ (succ ucc(0)))))))
succ (succ

succ (succ

ucc (succ(0))))

succ (succ )
succ (succ(succ(0)))))))))

succ (succ
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= succ (succ
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(
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T 2 @l succ(X) Il pa 100 2 &1 X 3sllas Lia
Jszias Lalia, @aradl § X1 i gl suce(_101)

succ ! cpays suelall cpays XIlg_100 s

X=_100 i
: 21071 s Jgzeias Laliza,

numeral(_100)
_100=succ(_101)

numeral(_101)

_101=succ(_102)

218 5,55 Ly s L JLilsg
Jol iy JWb blaadl caams Jull,

X=0J> numeral(_102)

4,8 5,5ls Lyt s Lia JWllg
S g QUL Clad) caaas JUall
X=succ(0) J> Ayl iy JoSG 1S
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